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General Instructions:
1. There are 14 questions in this question paper. All questions are compulsory.
2. This question paper has two sections: Section - A, Section - B.
3. Section A - Q. No. 1 to 8 are objective type questions and carry 1 mark each.
4. Section B - Q. N0.9 to 14 are short answer questions and carry 2 mark each.
SECTION A
(Select the best appropriate answer(s) from the options given below.)
1. Which of the following is operating systems for smartphones? 1)
(A) Android (B) Apple iOS (C) Windows (D) All of the above
2. Which of the following is not an ICT device? 1)
(A) Tablet (B) Smartphone (C) E-mail (D) Laptop
3. Anentrepreneur is a person who is 1)
(A) Wage-employed (B) Self-employed
(C) An employee who is getting salary (D) None of the above
4.  What is the aim of entrepreneurship? 1)
(A) Earn a profit (B) Solve customers’ need innovatively
(C) Both of the above (D) None of the above
5. Which of the following are non-renewable resources? (1)
(A) Coal (B) Wind (C) Sun (D) Water
6.  Which of the following options describe a green economy correctly? A green economy D)
(A) uses less resources (B) uses more resources
(C) wastes less items (D) wastes more items
7. Default name of spreadsheet open in LibreOffice Calc is 1)
(A) Untitled X, where X is a number
(B) Calc X, where X is a number
(C) Spreadsheet X, where X is a number
(D) None of the above
8. shows the address of Active Cell. @
(A) Name Box (B) Current Cell (C) Formula bar (D) None of the above
SECTION B
9. Give any two uses of ICT at Home 2
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10. List any two characteristics of wage employment.

11. State any four ways by which you can help to save energy

12. Give the syntax and work of any two mathematical functions available in spreadsheet.

13. What is an active cell? How to delete the contents of an active cell?

14. List any four components of a chart.
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